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Generally the reaction is exothermic because one π and one σ bond are 

converted to two σ bonds
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Markovnikov’s Rule
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Specific Example



March 08 Dr. Abdullah I. Saleh/236-3-2 15



� Regiospecific addition

� Only one product (regioisomer) is observed.
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3-21
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3.13

a. Secondary; there are two carbons bonded to the positively charged carbon. 

b. Primary; one carbon is bonded to the positively charged carbon. 

c. Tertiary; three carbons are bonded to the positively charged carbon.
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c. Tertiary; three carbons are bonded to the positively charged carbon.

3.14 The order of stability is c > a > b.
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3.19
The boron adds to the less substituted carbon of the double bond, and, in the oxidation, the boron is replaced 
by an OH group. Note that the acid-catalyzed hydration of the same alkene would give the alcohol 
(CH3)2C(OH)CH2CH3 instead, according to Markovnikov’s rule.

3.20
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3.20

Acid-catalyzed hydration of vinylcyclohexane occurs in the Markovnikov sense:

vinylcyclohexane
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What would be the major product 

of the following reaction?

A) I

B) IIB) II

C) III

D) IV

E) V
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Select the necessary reagent(s) to convert cycloheptene to cycloheptane.

?

a. H2 and Ni b. H2O c. H2SO4 and heat

d. Zn and H+ e. KOH in alcohol and heat

Which of the following alkenes is needed to prepare 
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Which of the following alkenes is needed to prepare 

3-cyclohexyl-1-propanol via a hydroboration-oxidation reaction?

CH2CH2CH2OH

3-cyclohexyl-1-propanol

a. cyclohexene b. vinyl cyclohexane

c. allyl cyclohexane d. propyl cyclohexene

e. 1- octene


